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|
1. 25894 2,000 0 2,000 2TES] T FY o 2,000,0008135]= 2,000,000
5.35%9 A4 41,900 15,400 26,500
1.RSaAAN 41,900 15,400 26,500
1 AR #Ak WA 4,500 3,000 1,500
5 44 9% 7Y (A 4,500,0008) -
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3. AR 12,400 8,400 4,000
NAELFRSHE - (FF 9,400,0009)
1. Q48R4 12,460 8,400 4,000 " = PR 3,000,0
g - (7]4 6,400,0008)= 000,000
2 73 &5 200,0004%58= 1,000,000
4, 58md AGTEEY 20,000 0 20,000
(A 1re8nd AdFA
1. 4184 11,0 0 11,000 ,000,
12 00 11,000,000 =12)= 11,000,800
A = Yy 5 1 A 3L2Q] -
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1.a3g4E 6,680 6,680 0

Lyw e 3,680 3,680 0

2. AHFAFF 3,000 3,000 o

2. 938 920 920 0
Lywty T3 920 920 0 o
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371883 8T 7,560 7,560 C
2. 08P LA 3,120 3,120 0
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1, kg 14,000 14,000 0

7.9 71& A 400 400 )
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3.82ed g4 2,500 2,500 0
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2.8 R RHY 1,000 1,000 0
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7.8 mAE B 8,000 8,000 0
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LAEgEUAL 8,000 8,000 0 B
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